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e ep(00): let f=Azz+1inf2(00000000)

(eval,let f=Az.x+1in f 2,[],init)

— (eval, \x.x + 1, [1, push((letin, f, f 2, [1), init))

— (apply, push((letin, f, f 2, [1),init), Closure(z,z + 1, [1))

(eval, f 2, [1[f = Closure(z,z + 1, [1)], init)

(eval, f, [1[f = Closure(z,z + 1, [1)], push((applyl, 2, [1[f = Closure(z,z + 1, [1)]), init))
(apply, push((applyl, 2, [1[f = Closure(z,z + 1, [1)]),init), Closure(z,z + 1, [1))
(eval, 2, [1[f = Closure(z,z + 1, [1)], push((apply2, Closure(x,z + 1, [1)),init))
(apply, push((apply2,Closure(z,z + 1, [1)),init), 2)
(eval,x + 1, [z = 2], init)
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ec;:lety=10inlet f=Xzax+yin f(f2) (000000O0DO)

e ex: lety=10inlet f=Azax+yinlety=20in f30(000000OD0O)



